Practice questions — Year 5 and 6 — Negative numbers
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. 22 - 35 = (negative numbers)
. 14 - 28 = (negative numbers)

. 6-19 = (negative numbers)

What is the difference between 24 and -17? (negative numbers)
What is the difference between -12 and 8? (negative numbers)

What is the difference between 15 and -32? (negative numbers)

22 - =-14 (negative numbers)
. 35-  =-23 (negative numbers)
. 48 - =-31 (negative numbers)
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Practice question answers — Year 5 and 6 — Negative numbers

. 22 -35=-13 (negative numbers)

. 14 - 28 = -14 (negative numbers)

. 6-19 =-13 (negative numbers)

What is the difference between 24 and -17 = 41 (negative numbers)
What is the difference between -12 and 8 = 20 (negative numbers)

. What is the difference between 15 and -32 = 47 (negative numbers)
. 22 -36 =-14 (negative numbers)

. 35-58 =-23 (negative numbers)
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. 48 - 79 = -31 (negative numbers)
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